
 

Problem prove that for any n 12 we can change n cents

of postage using 415 cents stamps

Pf
Base Case n 12 4 4 4 1314 15 V

IH we can change 2 cents using 415 cent
stamps for n 17,15 any amont Ken1

IS Goal make a change for n

q
then use it to ohay

a 12 En 4 I n l
not necessarilytrue

n l 715 n 4212

Therefore by 1H Pcn 4 holds and me are done
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China gets matched

Pf Pf by contradiction



If If by co trade
Supp Iman m who is not matched

since then ane n men f n women I unmatched
woman W

BC while loop ends m has proposed andget rejected

by all women
3 me has proposed to W

L w was engaged at some point
But by OBS 3 w must be matched at end

contradiction D

3 there exists tf for all

Claim There is no unstable pair
Pf By contradiction
Suppose me w is unstable
Case 1 mi proposed to w

m not matched w has rejected me

By OBS we prefer her match to m contradiotio

Case 2 Mi never proposed to w

by DBS
d
i m goes

down his list
he is matched to someone he likes more than W

So mis w is stable contradiction


